
 

ANNOUNCEMENTS MAR 2

Cameras on

HW 6 due Thu

MidtermMar 4 Il
Officehours Fri 2 3 Tue 1112 appt

Today Free products trees

Freeproducts are virtually free
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3.9 A converse If pterfices coatsof A
Thm_3.28 Say A B is a freeprod white

T vertices
Cosetsof B

Then F bipartite tree and an action inA B
of A B satisfyingthe last theorem
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mo GA gB
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If Pelifices coatsof A
because can't have gA hB
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Tis connected A B Examples

To connect id edge e togedge
write g aib
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The stabilizerof the La c

vertex A is A Pod Consider Ca bab SE

Prod The stabilizerof
is it free

GA is gag 1
Yes Same as proof at

startof class
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31 This Makethe tree T forA B
Let A B befinitegroups
then A B is virtuallyfree as above

it has a freesubgpoffiniteindex Check k acts freely

Bf We'll prove more kernel K of Stabilizers of edges inA B

A B Ax B ponpirid
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which maps to

a id
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Stabilizer of A is A
Now check A n k id

Foreach vertex find stabilizer

byPnd show intersectionwithKis B
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